FERIEE

FIFa7INTRE FLABFES (v FOE)

FEER : 2019438138 (k) REAVR)—H5T
B | HEESA FRE | OUT| IN | GROSS | HDCP | NET B | HEES FR/E | OUT| IN | GROSS| HDCP | NET JEfL | HEES FR/E | OUT | IN |GROSS|HDCP| NET [[:o HRER FiE | OUT| IN |GROSS| HDCP | NET
Bl (ILT EH |(AM+rBE| 43| 8 86| 15.6| 70.4 B | AE EBE |AMLBE| 42| 45 87| 13.2| 73.8 9541 |fTH RE |Yrt 44| 43| 87| 10.8| 76.2 14242 |#HN1 1E i 13 45| 40| 85| 6.0| 79.0
2% | LH BE (A4 FBE| 42| 38 80| 9.6/ 70.4 A6 |Z5BE IERL | vTa 43| 38 81| 7.2| 73.8 9641 |#RE EFX |k 50| 49| 99| 22.8 76.2 14346 (AR #EA  |Zmw 48| 42| 90| 10.8] 79.2
L (/A BAR |Yut 47| 54| 101 30.0| 71.0 5061 |‘BH fEz (Yt 44| 43 87| 13.2| 73.8 974z |FIl A4 FBE| 45| 48] 93| 16.8| 76.2 14441 | AR 8T YT A 48| 53| 101| 21.6] 79.4
M hEE iz | Tk 42| # 83| 12.0| 71.0 51 [s)Il EEX (ot 54| 50| 104| 30.0| 74.0 9841 |0 HEER |oqL | 46| 41| 87/ 10.8) 76.2 14541 | EFD |[RA—T 50 51| 101| 21.6| 79.4
S |KiE BEX |(mqvL 45 44 89| 18.0| 71.0 5261 | KFHFx &EFE (Yot 46| 40| 86| 12.0| 74.0 9% |FH EB— |4t 45| 48| 93| 16.8| 76.2 14661 /v g & A4 LEE| 52| 49| 101] 21.6| 79.4
6L | B/A EX |KsSP 4 M 82| 10.8| 71.2 53fz (Al BE |KsP 46| 45| 91| 16.8| 74.2| | 1004 |\ KE |=h 46| 46| 92| 15.6| 76.4 14761 |58 & (Yot 43| 52| 95| 15.6| 79.4
ML | RE =15 42| 39 81| 9.6| 71.4 b4 |EH = TS -54| 47| 44 91| 16.8| 74.2| [1014Z|E FEM KSP 49| 43| 92| 15.6| 76.4 14861 1T AR #itK Yy Ta 57| 56| 113| 33.6| 79.4
8 |—15 Bl |yt 39 4 80| 8.4 71.6 5561 |EH # Hrt 44| 46 90| 15.6| 74.4| |[102ff FEN TEE |A4 +BE| 48| 44| 92| 15.6| 76.4 14947 | IN%E  REB Hrt 54| 46| 100| 20.4| 79.6
of | HER |RA—T 44| 36 80| 8.4 71.6 56fi &£ FEH |vit 45| 45 90| 15.6| 74.4| |1034L =i = Hrt 45| 41| 86| 9.6 76.4 150f |—& 238 b (14 45| 49| 94| 14.4] 79.6
104 [fER2K BB |(VvyTa 41 39 80| 8.4 71.6 51 (MK A%E |Yot 50| 46 96| 21.6| 74.4| |104GL |FuF FnF |44 ~BE| 46| 40| 86| 9.6 76.4 15141 | KEH BB 2= 52| 48| 100| 20.4| 79.6
M | £8 —E |35 47| 50 97| 25.2| 71.8 B8 %R I |k 47| 43 90| 15.6| 74.4| |105% (&R fB— |{=H 48| 44| 92| 15.6| 76.4 1624 |h#t i A4 FEE| 52| 42| 94| 14.4| 79.6
1261 |BR EX |[£H 41| 38 790 72| 71.8 5% |IA —fE |RA—T 46| 50 96| 21.6| 74.4| [1064%|FA Ex |A« +BE| 43| 43| 86| 9.6 76.4 1634 |BER R |=H 49| 50| 99| 19.2] 79.8
1362 (4Bl EX |A rBE| 42| 2 84| 12.0| 72.0 601 A B8 |R4—T 43| 47| 90| 15.6| 74.4| |107fL|fBXE ¥EB |A4 +BE| 45| 47| 92[15.6| 76.4 15441 |Z5E #A |24 +EE| 53| 46) 99| 19.2| 79.8
144 |BA BEH (Yot 46| 50 96| 24.0| 72.0 614z |¥ER % FwEEL 43| 46| 89| 14.4| 74.6| |108ff |AA ZB |Hot 48| 43| 91| 14.4| 76.6 15561 | EA =K |[A4 +BE| 45| 54) 99| 19.2| 79.8
154 |#F ER | AA +FEE| 38| 34 72| 0.0] 72.0 6211 |FTE RBIE |KSP 46| 43 89| 14.4| 74.6| [1094z|BT &HHE |RH 47| 44| 91| 14.4| 76.6 1564 |BAEH FE F54—54| 50| 54| 104| 24.0| 80.0
1661 |#HE 5 |86 2| 42 84| 12.0| 72.0 631 |KA MBHE |KE 41 42 83| 8.4\ 74.6| 1104z |tE FH1T |Yot 47| 49| 96| 19.2| 76.8 15746z (Il B& A= 51| 52| 103| 22.8| 80.2
176 (K & 2L—T 2| 47 89| 16.8| 72.2 641z |EHEBE MK |DyTa 43| 46 89| 14.4| 746 |1114L @EHE L |(Rq4—7F 49| 41| 90| 13.2| 76.8 1684 |[FHA H— =% 53| 56| 109| 28.8| 80.2
184 |t = |A/+BE| 49| 40 89| 16.8| 72.2 654 (MTAR #FL|ovTa 46| 37 83| 8.4/ 74.6| [112fz|hE BAR |LRE 47| 43| 90| 13.2| 76.8 15961 |= 8 #E& |fA 46| 44| 90| 9.6| 80.4
196 |&K 3 KSP 41| 36 77| 48] 72.2 664z |EEA M| 48| 41 89| 14.4| 74.6| [1134z|EM #FEA |k 49| 41| 90[13.2| 76.8 1604 | & KSP 53| 47| 100| 19.2| 80.8
204 |#k FEBX Hot 45| 49 94| 21.6| 72.4 6761 |BA Eif (A« +EEB| 45| 43 88| 13.2| 74.8 1144z |FERE EX |Yot 45| 45| 90| 13.2| 76.8 16146 | @ 5 J54—54| 56| 50| 106| 25.2| 80.8
2161 | == 88 |k 42| 40 82| 9.6| 72.4 6841 |PiE 1EA |AA +EE| 49| 45 94| 19.2| 74.8| [115fz|EE HE |yt 51| 44| 95/ 18.0/ 77.0 16201 |[BE FBE o4+ 47| 41| 88| 7.2| 80.8
201 \BH FX  |(RA4—TF 44| 44 88| 15.6| 72.4 696% BB FAE| | R4—F 45| 43 88| 13.2| 74.8| [116fz|BEXR —E |5B 47| 48| 95/ 18.0 77.0 1634L |5 = F54—54| 49| 51| 100| 19.2| 80.8
261 |BXR MK |RAE 42| 40 82| 9.6| 72.4 7041 a4 44| 44 88| 13.2| 74.8[ |1z |FAN #HXx |R4—T 47| 47| 94| 16.8| 77.2 1646 | AT BEFE (Yot 52| 47| 99| 18.0| 81.0
2441 (&5 B BB 44| 37 81| 8.4 72.6 T4z b 13 45 42 87| 12.0| 75.0| |118ff |[#d@] &= |A« +@E| 45| 43| 88[10.8| 77.2 1654 |1EiE FX J54—54| 56| 55| 111] 30.0| 81.0
2502 |&)I & Hot 42| 44 86| 13.2| 72.8 7245 RA4—7 48| 45| 93| 18.0| 75.0| |1194%|HIE EuEE @ 49| 45| 94| 16.8 77.2 1664 | LB 3F 2A4—=F 55| 49| 104| 22.8| 81.2
2644 |FEAEH Eih |KE 41| 45 86| 13.2| 72.8 734 A 55| 44 99| 24.0| 75.0 |[1204% [P IhiA |A« +EE| 49 45| 94| 16.8| 77.2 1674 A X |A4 FEHE| 50| 54| 104| 22.8| 81.2
2761 |BEH FE | FS5¥-54) 46| 46 92| 19.2| 72.8 7441 BEEIL 40| 41 81| 6.0| 75.0| [1214z|iE2 RE |k 47| 47| 94| 16.8| 77.2 16861 |FHRE & 24—F 58| 50| 108| 26.4| 81.6
2861 |HLE IEF |l 47| 44 91| 18.0| 73.0 7541 KSP 49| 49| 98| 22.8| 75.2| |122%% | LRE HBE |Yot 49| 44| 93| 15.6| 77.4 1694 |7kfE BA  |£A 54| 54| 108| 26.4| 81.6
2015 |[IME B KSP 44| 46 9| 16.8| 73.2 76431 4 |54 —54) 58| 46| 104| 28.8| 75.2| |1236|BH Hi |CH 39| 42| 81| 3.6/ 77.4 17061 /MR BAE |24 51| 56| 107| 25.2| 81.8
301z [|HF KSP 41| 37 78| 4.8 73.2 T |5 =g 42| 44| 86| 10.8| 75.2| | 1244 |shF K A4 LEE| 46| 41| 87| 9.6| 77.4 17146 | KF BE KSP 51| 50| 101| 19.2| 81.8
3L |BR A& L& 43| 47 90| 16.8| 73.2 78451 FS+y—54| 42| 38 80 4.8 75.2| |[1254% T Ex =5 46| 53| 99| 21.6| 77.4 17261 | BAA  |A4 +&E| 57| 44| 101] 19.2| 81.8
326 |1E% B8t |e—xvosx| 45| 39 84| 10.8| 73.2 9% |ER TS —54| 44| 42 86| 10.8| 75.2 |[1264z|AA #MZ |EEKEIL 44| 43| 87| 9.6| 71.4 17346L ;BB #Fst b 13 52| 52| 104| 21.6| 82.4
33 |#kE & FS5H—54| 44| 40 84| 10.8| 73.2 804z |FA HEEBE |oqvu 45| 40| 85| 9.6 75.4| |127%L|IFNI MK Hot 56| 48| 104|26.4| 77.6 17461 (#8lL F= |Aq4 +BE| 51| 47| 98] 15.6| 82.4
34GL |IBFRT B Hot 47| 43 9| 16.8| 73.2 814 |1E% [ =% 46| 44 90| 14.4| 75.6| |128fL|&F HE |H#E 51| 46 97| 19.2| 77.8 1756 (LA 1881 b 13 49| 43| 92| 9.6| 82.4
3561 (A X |BEZREL 4| 43 84| 10.8| 73.2 8261 |¥B WME |CA 52| 50| 102| 26.4| 75.6| |[1294% (@A =% 46| 45| 91[13.2| 71.8 17661 | K& st b 13 49| 54| 103| 20.4| 82.6
366 |FAREMFX |VyTa 57| 45| 102| 28.8| 73.2 83 |BFH BZE (vt 43| 47| 90| 14.4| 75.6| |1304 |FEE B8ABH |RA4—F | 45| 40| 85| 7.2 71.8 17741 |18 BE BB 50| 46| 96| 13.2| 82.8
374L |k =F VYT 4 45| 45 9| 16.8| 73.2 846 | KB ME |CA 43| 47 90| 14.4| 75.6( |13V |4 FEFN | e 47| 44| 9113.2| 71.8 1786 | E& FE Hot 51| 63| 114| 31.2| 82.8
384 |7EK EEB |KSP 53| 42 95| 21.6| 73.4 854 [N EREA | 51| 51| 102| 26.4| 75.6( |[1324L|FJ)Il F# |A« +EE| 42| 42| 84| 6.0/ 78.0 17961 AR #3A 2L—=7 60| 51| 111| 27.6| 83.4
3961 (32N MR | FSv-54) 42| 47 89| 15.6| 73.4 86HL Lk EEEX |[RA4—TF 48| 42| 90| 14.4| 75.6| |133fL|ApE IEBF |*4 FE®E| 50| 40| 90[12.0| 78.0 1804 |fh s &KX KSP 49| 50| 99| 15.6| 83.4
4061 |k BA Hot 49| 46 95| 21.6| 73.4 874 |ILIF KRF |A4 FEER| 48| 42 90| 14.4| 75.6| |1344z| B ==& |e—=xvwsz| 49| 53| 102| 24.0| 78.0 181 |FiK BEX  |[Hot 58| 47| 105| 21.6| 83.4
AR A== DT I S = B 2 4 41| 36 77| 3.6| 73.4 88 |EM KSP 44| 39 83| 7.2| 75.8| |135GL|RA A |HE 45| 44| 89| 10.8| 78.2 1824 1R BF— YT 4 52| 51| 103| 19.2| 83.8
241 | TH B |yt a4 88| 14.4| 73.6 89 |JK¥ BhER |AEZENL 44| 39 83| 7.2| 75.8| |136fL 4L TR |R4—F 46| 49| 95| 16.8| 78.2 1834 LR FERX [V v T4 56| 50| 106| 21.6| 84.4
431 |#EA - BEEEL 46| 42 88| 14.4| 73.6 90f |/MIl EEK |KSP 47 M 88| 12.0| 76.0| [137|KE B X4 FEE| 50| 51| 101 22.8| 78.2 1844 |FNE &A (Yot 59| 46| 105| 20.4| 84.6
AL | BIRRAE TR |(IZA 45| 43 88| 14.4| 73.6 9 ’Ifk FIB | RA—F 50| 44 94| 18.0| 76.0| |138ff |f#im FHt (|HE 51| 48| 99| 20.4| 78.6 1854 | & #z g—xuvoz| 58] 61| 119] 33.6| 85.4
A5G |AIMT KM |KSP 49| 44 93| 19.2| 73.8 92 |thy B= |R4—7 51| 49| 100| 24.0| 76.0| |[139ff|#E BU&X |A4 +@E| 55| 50| 105 26.4| 78.6 1864 |84 5= |F5+-54| 57| 49| 106] 20.4| 85.6
460 |EXR = A4 rEE| 39| 42 81| 7.2| 73.8 O3 |IUT HEFX |44 FEER| 50| 44 94| 18.0| 76.0| |1404f|BE I |« +BE| 52| 46| 98/19.2] 78.8] |N R|ZkA Fg a4 L o o

4741 |BEIR ER (Yot 49| 44 93| 19.2| 73.8 94 |MER H |BB 42| 46 88| 12.0| 76.0 |14Mz|ZEE M |(msv 48| 55| 103| 24.0/ 79.0| |N R|{ITE & EDH o o




